* On the Run

Decide who will be the 'Cop' and who will be the 'Robber'. Place your counter on the starting point on the board.
Taking turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move
your counter back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the
‘Robber’ then the ‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured,

the ‘Robber’ wins.
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* On the Run

Decide who will be the 'Cop' and who will be the 'Robber’. Place your counter on the starting point on the board. Taking
turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move your counter
back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the ‘Robber’ then the
‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured, the ‘Robber’ wins.
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* On the Run

Decide who will be the 'Cop' and who will be the 'Robber'. Place your counter on the starting point on the board.
Taking turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move
your counter back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the
‘Robber’ then the ‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured,
the ‘Robber’ wins.
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* On the Run Answers

Decide who will be the 'Cop' and who will be the 'Robber'. Place your counter on the starting point on the board.
Taking turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move
your counter back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the
‘Robber’ then the ‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured,

the ‘Robber’ wins.

‘Cop’ Starting Point
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x On the Run Answers

Decide who will be the 'Cop' and who will be the 'Robber’. Place your counter on the starting point on the board. Taking
turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move your counter
back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the ‘Robber’ then the
‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured, the ‘Robber’ wins.
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* On the Run Answers

Decide who will be the 'Cop' and who will be the 'Robber'. Place your counter on the starting point on the board.
Taking turns, move your counter on the board, answering the question you land on. If the answer is incorrect, move
your counter back to the previous position. If the ‘Cop’ captures the ‘Robber’ by landing on the same hexagon as the

‘Robber’ then the ‘Cop’ wins. If the ‘Robber’ manages to reach the opposite end of the board without being captured,
the ‘Robber’ wins.
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